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" POLITICAL SCIENCE
USYWIRA
PAPER-II
WA Yol 1T

Note :— This paper contains fifty (50) multiple-choice questions, each question

carrying two (2) marks. Attempt all the questions.

W9 - 2 Nl g AR (40) tgRselly wadl &, edsu & (2) ARl V.

1.

SRR A TEL TR TR ST TAN
Who advocated that the ‘State is the extension of' the family’ ?

- (A) Rousseau (B) Aristotlé

(C) Machiavelli D) Locke
QU géogd Rrde 87 il Rwad 3 30 :

@ 3 B NP
(© Aswdedl @) dls

“Prince should have qualities of Fox and Lion.” Who said ?
(A) Kautilya (B) Machiavelli
(C) Mahatma Gandhiji | D) Bodin
AL B 2 Rigt el Sl ASA.T A sg ?
a) SRy | ~ (B) Aswadl

(C) usic Al D) ol

Who propagated the idea of popular sovereignty ?

(A) Rousseau . (B) John Austin
© Laski ‘ (D) Montesque
dlsBa adedluca-l Qa4 walid syl :

(A) 30l (B) i A
© ardl D) HiRs
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4, “Man is governed by two masters—Pleasure and Pain.” Who said ?

A) J.8. Mill ~ (B) Bentham
(© Bodin (D) Lord Bryce
“ugarl 6 P B—yul A g SR s ?
Q) %.2x%. R4 (B) Q-
©) olsld @) dls susy
5. “Will, not force is the basis of the state.” Who said.this ?
(A) T.H. Green (B) Marx
(C)  Locke \ (D) James Mill
“Sust Adl § e Apu-l wdl .77 AL SR sg ?
@A) .xa. - - ® usd
(€ dis O ¥ Rg
6. “The theory of Surplus Value leads to class war.” Who said ?
(A) Savarkar (B) ‘Mahatma Gandhiji
(C) Karl Marx D) Ambedkar
“wlRRst Yeurd Rigid 9ol Qs d2s QN ou 8.7 A s ?
A) WA B) st ity |
©) sid wsd D) Jwelesy
7. The Rawlsian notion of justice is :
(A) Capitalism with justice (B) Utilitarian
(C) Communitarian (D) Liberal
uddl Aelly Rar & ¢ ,
(A iy WA yglae B Guullaae
(C) Ayeldue D) GelRale
8. Who is the author of the ‘First War of Independence’ ?
(A) Aurobindo Ghosh : f (B) Jay Prakash Narain
(C) Swami Vivekananda | (D) V.D. Savarkar
‘5% Al 1§ SFsUArswy’ Ll Auis sl & ?
@A) e wln (B) %4 Sl 14

(©) QR [RaAste O dl.8l. was:
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9. Who propounded the ‘Theory of Two Swords’ ?
A) Bodin (B) Hugo Grotious
(C) St. Augustine . (D) Machiavelli
& daal Rigidd ulue A s ?
(A) oiisld - B) ol ey
(©) Ad AHPREA D) Aswadl
10. | Who is the author of the book Who Governs’ ?
(A) Robert Dahl. (B) David Easton
(C) Sydny Verba (D) Lusian Pia
‘g dad’ yadsL duis sla ® 7
(A) RUGLE sele | B) &dls e
© [Rs+l arey ®) 4Rl WS
11.  The concept of ‘Political System’ rather than ‘State’ has been advocated by :
(A) C.B. Macpherson (B) David Easton
(C) Harold Lasswell (D) Robert Dahl
urdly il Rewar 4 3wl A3 Rad 530 D
@A) A.ofl. Assun . (@) &dls Swert
(C) &RUeS ddd M) NS seld
12. Who said, “for the forms of government, let fools contest, whichever is best,
administered is best” ?
(A) Plato (B) Hobbes
(C) J.8. Mill : (D) Alexander Pope
ARSI 1|FUL 20 yuilalia ual san €, ¥ AR Wit WA A W AR’
sl 5§ ¢
@) Qa ® e
©- %. 29, Ra o (D) AdsnirsR Wiy
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13.

14,

15.

16.

Behaviourism aim$ at studying :
(A) Process of gO\:rernment»

(B) Political behaviour of individual
(C) Constitution ' '
(D) Behaviour of .‘fthe state
adratert xReuu-l &g :

A) sl uFuL

B) Al wwsly adgs

(©) elaire |

- @) Al adgs

Function of pressure group is : v

(A) to contest elections (B) to form the government
(C) to pressurize: the government (D) to form a political party
el ogued st

A) Yeell asdl - B) AWLAL - sl

(C) UL BGUR soueL alag M) Uxsly yadl - sdl
Which of the following are agents of political socialization ?

(A) Family ‘ ~ (B) Political parties

(C) Media ) @) All of these
LAY WUwsLRAAL DA 50 el D

(A) & : (B) A¥LY uall
(C) A ' | ®) »ulddi aaiy

Universal franchise means :

(A) Right to vote to all graduates

(B) Right to vote to all adult citizens
(C) Right to vote to all men

(D) Right to vote to all tax-payers
WdBLs vcsie, Aed -

Q) Ay s Hdsirddl AR

(B) Ay Yo WARSIA Hdsirll sl
(O elater YA Hdslddl x1Rs1R

D) s seldizlid Hdeld-dl wARH
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17.

18.

19.

20.

Which of the following countries has a unitary form of government ? -

(A) Australia . (B) New Zealand
(C) USA ‘ (D) Sweden
Al suL Salini z»‘wma ¥l AR B ?

(A) lgdlul ‘ B) yAla-s

© AN, @O Ras+

About which parliament, it is said that it can do anything except changing
man into a woman and woman into a man ?

(A) USA | (B) India
(C) Canada ®O) UK

5§ dAe W2 sdami 2w B 3 ‘A& YA wfl 2R 2N YW elaal Raw
oty 3 w3 B 7

(A) 3. 2.4, B) eld

(C) 3dsi ®) y.3.

“Accumulation of legislative, executive and judicial powers in one hand is
the very definition of tyranny.” Who said it ?

(A) Hobbes : ‘ (B)  Locke

(C) Rousseau (D) Montesquieu

“arugly, sirlondl, ~uuRvus aw»ﬁ 25 o Bl sladl drdld, zl ‘chQlLéHl
w877 giA s ?

(A) sloy (B) als

(©) 3l D) Hirds

Who has made comparative study of revolutions ?

(A) Brinton . | (B) Dunn

(C) Theda Skocpal (@) All of these
silAll daricns voq s syl

Q) [Sirest B) §t-

(O a8l wiswe | @) uddl wai o
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21. The Preamble of the Constitution of India was amended by :

(A) 26th amendment (B) 42nd amendment

(C) 44th amendment (D) 74th amendment

MLl ofaLRiel el JaiRl, sut oiarelly el srami vl ?
(A) UL YAt B) ¥l FaI

(©) ¥¥dl Jal D) O¥Hl YUl

22. The President of India is elected by electoral college consisting of :
(A) Members of Parliament
(B) All members of Parliament and Legislative Assemblies
(C) Nominated members of Lok Sabha and Rajya Sabha
(D) Elected members of both Houses of Parliament, elected members of
Legistative Assemblies and of Legislatures of Union Territories of Delhi
and Pondicherry
euarl uRAl 2ol As udel¥dSN gLl Wy B, FHL Sl Wwudw Wy
8 ?
@A) eurdrdl Aue-l AeAL-l
(B) el A AU [QaiAcil Sl AUl
() disuotirt il UuASUAL Faudar uoi-l |
O) sl e oA sl Yardar Aedidl, Al Qaasu- Jadal
Aol 2 Redl wA UAAA 3w wRid nzald Raasu-i J2da
AGYIAL
23. When the Vice-President of India acts as President, who presides over Réjya
- Sabha ?
(A) Prime Minister
(B) Deputy Chairman of Rajya Sabha
(C) Chief Justice of Supreme Court
(D) None of the above "
oyl elldrll G-, WAL sidelR AU & AU UUACUAL (B8
a3 sie s s 8 7
(A) ™ld-l 4aSLMEl
(B) UABAAGUL Guieua
(©) wdlA vetadrl yod Ayl
@) Gu-unigl siduel «dl

Pol. Se.—II 8



24.

25.

e

Under Article 74 of the Indian Constitution :

(A) President is not bound by the advice of Council of Ministers

(B) President is always bound by the advice of Council of Ministers

(C) President may ask Council of Ministers to reconsider their advice but
after reconsideration will be bound by the advice

(D) None of the above statement is correct

UL sl oy Wl san Yoo : |

A) erd-l Ayl nasarll Adle Hinal sfmden A

B WU ueuAHsal Aels Hirdl W sigdear 8

(©) Wuld nat-pisd el Aenerl yraaeudl 1ol 531 9 e A
Yeildaien au uedl uai-disadl aae Hwi-aL siadar 8
D@ Gu-l QRaediniell As wa Rt w2

The Supreme Court’s power of judicial review means :

(A) to declare a law void or unconstitutional if it is against the provisions
of the Constitution

(B) to maintain law and order in the state

(C) to give directions to the Legislature )
(D) to observe the election of the Speaker of Lok Sabha |
Al velad-l uafly e waiedl 2 wy @

Q) A 58 stuel sl Rorus oidtL scll $lu A 2w 3 Areiarelly ndr
sl At

(B) UAUHL SIUEL 27 ol Al UL
(O “RgACUA UBYU iyl AL
D) disueunl sia-d Yeolld Rlan sl w

A minister in the Union Executive ceases to be a minister if he does not
become the member of Parliament within :

(A) Six months ‘ (B) A year
(C) Three months (D) One month ' T~

A AR slould A8 newq Jean wny Yl e SiSwa deril Ay
ot dl N dl3 WA oy B ? |

A) & uwA Yl B As av yelui
© A W yellui @) s A Yeui

Pol. Sc.—II 9 P.T.O.




27. A State Legislature can be -dissolved by :
(A) Governor '
B) Speakc'ar
(O) Chief Minister
(D) Chief Justice of the High Court
Ul Raiueid RQusd sidl gl af ud ?
(A) UG gl
@) s all
(C) vudoAl gl
D) =Uwu-ll asl vetadl you uayld gl
28. Electoral reforms means : | |

(A) making the electoral system free from political parties by eliminating
them

B) to introduce one man—two vote system in a multimember Constituency
(C) no electoral list allows all citizens to vote

(D) to disqualify the criminals from contesting elections ‘

Yool yarul e Wy B :

A) ool neaud XY vl 11,3@ 53l A A W2 AU el e s
B) s AR A Hdl ddl Rl oig—yed Ralan sl sl

(©) S1Sua udelR el ol % WURSIA Hd il g 2l 8

D) 2uANIA GReUR a3 Yeell dsal W2 Uy AdR s

29. The process of the amendment of the Constitution is provided under which
Article of Indian Constitution ?

@) 370 (@B 256

(C) 360 D) 368

ellcrll sl gl sall gl siazadl 5§ san 6 ?
A) 390 H{l B) ws |l

(C) 350 Hl D) 3s5¢ Hl

Pol. Sc.—II 10.



30.

31.

The money bill is introduced :

(A) first in Lok Sabha

(B) first in Rajya Sabha

(C) simultaneously in Lok Sabha and Rajya Sabha

(D) in the Lok Sabha with the recommendation of the President

oAl Awsugly vt AL uan sui 3y ad wy ?

(A) QlsAUHL

(B) NAUASUHL

(C) dlsueudi A AwyAuy] A4 W

@) WAl elenad]l disueusi , ‘

“Public Administration consists of all those operatlons having for that purpose
enforcement and fulfilment of public policy.” Who said this ?

(A) W.F. Willoughby
(B) LD. White
(C) Woodrow Wilson

(D) Luther Gullick

“od adlazHi 35 olloid ¥l 3 wdR L 2na 2»1-1 Rulgl Qe a
8. 2 s sg 7 »

B) suey. g, Rl

B) Ad.sl. wise

© a5l R

D) e4ar ylas

Who is known as ‘Father of Scientific Management’ ?
(A) F.W. Taylor |

(B) E. Mayo

(C) Herbert Simon

(D) Chester Barnard _

Qafis Auaq Rar s & ?

(A) ¥5.s61¢Y 2¢R

@) ¢§. Al

(C) eold wyy-

D) AR oi-ls

Pol. Se.—1II . 11 P.T.O.



33.

34.

35.

36.

Maslow has given a five-fold hierarchy of needs. Which of the following is

not included among them ?

(A) Physiological needs ®B) Safety and Security '
(C) Emotional and Psychological D) Status _ \

Retin Aellgu-l win w3Rutdl weudl 8. Aui QA 55 susid-il WA Adl
o] : |

@A) whls o3laq (B) Y& A Aendl

(©) ocud-itdlla Ay ®) skl

Which one of the following is not a consequence of Bureaucracy Organisation ?

(A) Unpredictability (B) Precision “
(C) Reliability “* " (D) Efficiency
DAunidl sy uaeizudl Aaredaty udleus -l ?

Aa) [Brtnouglysd (B) AlssAd

(©) [randlya D) AN

Which are the principles of organisation ?

(A) Unity of Command ‘ (B) Hierarchy J
(C) Span of Control (D) Al of these. '
ARAdAL sl Rigidl & ?

A) ueu-l Asdl B) Aelldu

(C) »igu Rw D) a4l oyl ¥

A civil servant in India may exercise political liberty by :
(A) Joining in any political party ' |

(B) Contesting in the election

(C) Criticising the government

(D) Exercising his franchise 3 . |
MLdui AAEl Aal U Adadl 56 d efad & .
A) siSual AU wari A 1
B) Y2ellHi GAea] 54

© AWl sl 534

D) A~ Hdcl-dl Guyidl 30

.Pol. Sc.—II | 12




37.

38.

39.

40.

How often the Finance Commission Constituted in India ?

" (A) Only once

(B) Once every year

(C) After every five years

(D) After every ten years

Slddl el yaurll - Jedl af wy § ?

(A) WAl As quid

B) avdi Wt s qud

(©) 35 win ad oug

D) es e A oue

Which of the following are not the main sources of revenue of the Central
Government ? ‘ _
(A) Income Tax | (B) Custom Duties

(C) Corporate Tax (D) General Sales Tax
DAunief] e w5+ vuasy sy you wad ol ?
(&) vlas A3 (B) swu syd
© sz A D) W A A
‘Federation provides for :
| (A) Division of powers (B) Separation of powers
(C) Concentration of powers | (D) Delegation of powers
Audcda Al e 3 B - |
A) Aridl adus (B) unild Roeuw-
(C) dutlg 3dls@ D) Adiqd ulaHan

Under which article of the Constitutional Provision Union Public Service
Qommission‘is Constituted ? |

(A) 315 (B) 319
(C) 316 D) 312
olanre-l 5§ san don An AN A dul @eu s 2 B ¢
(A 31y , B) 31c¢
(C) 31§ D) 312

Pol. Sc.—II 13 P.T.O.



41.

42.

43.

Which of the following theories puts greatest emphasis on structure of

international system ?

(A) Liberalism

(B) Neo-liberalism

(C) Neo-realism

(D) Classical realism

A culdal Rgidinidl s4i Rigid Aid Ay Hell-t, wauL 42 2{1911 a8 IR

43 69 ?

(A) Gelrdle 3 GelR¥Hdde

(B) A4-Gelrale

(C) +a-yauidale

D) uewl@siad ddaie

In the persu1t of power, statesmen persue certain ideologies according to

Morgenthau. Which of the followmg is not amongst it ?

(A) Ideology of imperialism - (B) Ideology of Status Quo

(C) Ambiguous ideology (D) Ideology of hegemony

‘ﬁ?.olr%ﬁvu Ul AR Al Wl Ayul Al edls Rauelaia wugul
. 13 ealddl lﬁmwzeﬂme{l £ [dzuwztaavu wde ddl adl Al ?

(A) Al aLe-l “o A A7 Al yRRaR Anaadl

(€) »RiRew RQauuzel (D) adzas [Qaiuwl

Which of the following is not an obJectlve of non-aligned movement ?

(A) to fight against 1mper1ahsm and for freedom of countnes

(B) to maintain world peace

(C) to fight against racialism

(D) to fight against terrorism

BiAsiacue-dl anan-i Sgiaidl su dg-l wwd 02 s.sutélcu Sgatiul udl-

“] 7

(A) ABUFAAUE A asd A 2 UREL AU

B) [Qsquiladl «nqel

(€) aldae wAA asd

D) e wAl dsd

Pol. Se.—II A 14



44. Which type of conflict has disappeared since the end of Cold War ?
(A) Ethnic conflict
(B) Religious conflict
P (C) Conflict between countries for control over natural resources
| (D) Conflict between US and Russia on ideological grounds
et Yot videfl syt ustw Aol i el § ?
(A) «dall L 2uaRa
@) @l 2walRd |
© uwdl a2l gecdl AUR YL viga -l A
@) 4.AA. A A2 a2 QAU s udl qAu

' 45. Which country has recently become a member of UNO ?
(A) Ukraine (B) Chechnya
© Switzerland (D) Taiwan
sUl 2U U AYsd gAY (Yedl) -l uey ol B ?
(A Y+ B) A~
(©) Razmds @) asa
46. World Trade Organization came into existence in :
(4) 1995 (B) 1996
(© 1997 ' . D) 1998
Qsq ez A sut bl Rl udl ?
@A) aee | B) 1ces
© 1ceo . @) cec
47. The conference on ‘Sustainable Development’ was recently held at :
(A) Marrakesh ~ (B) dJohannesburg
(C) Cancun (D) Jakarta
‘Delstell Qs 4 BQda 4R Rara w2 2« sai wkve Hofl sdl ?
(A) WA - B) Asi{luol |

(C) 3w D) Asial
Pol. Sc.—II 15 P.T.O.




48.

49,

50.

Which of the following countries played the role of a mediator between
government of Sri Lanka and LTTE in talks held at Thailand ?

(A) Sweden (B) Denmark

(C) Norway (D) Austria '
seisi-l AR 21 NS (LTTE) 40 ¥at2uall & wend wisdesui ug
AUl st YA el 570 el ? | -

A) els+ B) Stuf

(C) -ud - * ) iRu

Name the author of the book ‘The Clash of Civilizations and the Remaking
of World Order’ : ‘ '

(A) Francis Fukuma

(B) Samuel Huntington

(C) Alvin Tofler

(D) Wayne Dyer ’ ‘ o

Y4 sAu e Adasiu s N0 Bis qed WS’ Yadsll Aus o
9 ? |

Q) sflu g5

(B) Ayd ¢rdloen

©) el 2isgr /

D) AU Sy o

Who has played the most important role in the formulation of Indian Foreign

Policy ?

(A) Minister of External Affairs

(B) Minister of State for External Affairs
(C) Indian Parliament

(D) Prime Minister of India

SRadl ARl asdai 0efl Heeard) 45 A9 ool B ?

A) [zl |
B) [Rewdlau-l uorysan e
© ctRadl Ame
D) cllRdrll asiMaL

Pol. Sc.—II | / ' 16
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